Example Questions: The Carbonate System

1. A water sample has a measured total alkalinity of 50. ppm CaCOj. Calculate the
concentration of all contributing species if the pH of the water sample is;
i) 7.00 i) 10.00
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2. Compare the pH and Tq (as ppm CaCO3) of the following two solutions.
i) 1.00x 10° M NaOH if) 0.100 M NaHCOs
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3. A water sample obtained from an area of dolimitic limestone (CaCO3.MgCOs) has a
pH =7.20 and a total alkalinity of 2.3 x 10 mol:H' L. Calculate the concentrations of
all major ions in solution.
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